restart;
C:=s->Ccl*s+c2*s"2;
ci=s—cls+c2s
d:=p->a0-al*p;
d:=p—ald—alp
x1:=p2e-pl=diff(c(s0-d(pl)),s0);
x1:=p2e —pl=cl+2c2(s0—al+alpl)
x2:=p2=solve(d(p2)=y2+s0-d(pl).p2);
-y2 —s0+2a0 —alpl
al
x3:=p2e=q*subs(y2=yh,op(2,x2))+(1-q)*subs(y2=0,0p(2,x2));
Xg;p%:cu-w—ﬂozfm%—ﬂph +(1—quew;fa0—Mpg

x4:=pl=collect(solve(subs(x3,x1),pl),[cl,a0]);
factor(op([2,2].%));

X2:=p2=

X4::p1:_l—C1 _|_l (2c2al +2) a0 1 -s0 —2c2als0—qyh
2 c2al+1 2 al(c2al+1) 2 al (c2al+1)
a0
al
diff(x4,q9);
0:_1 yh

2 al(c2al+1)
parms:=a0=10,al=1,cl1=1,c2=1/10,s0=5,yh=5;

parms :=a0=10,al=1,cl=1, c2"?ﬁ§ s0=5,yh=5

plot(subs(parms,subs(x4,[op(2,%x3),0p(2,x4),subs(y2=yh,op(2,x2)),
1)1

subs(y2=0,0p(2,%2))1)),q=0.
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